Problem of the week
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Solution:

Explanation:

We know that k is odd. Let k be 2n+1. Then at least 1 and at most n candidates
can be awarded the prize. Hence *C, + *C, +*C, + ... +*C_ = 63. Adding *C, =
1 to both sides,

¥Co + *C, + ¥C, +*C, + ... +*C_ = 64

Now *C, = *C, (i.e. *C,,,,) and so on hence we can say *C, + *C, + *C, +*C, +
.. +%, =64 + 64 =128ie. 2*=128ie k=7

Alternatively,

fn=1, k=3
5 ¥yt *Cy+ L+ ¥C 2%, +3C, =1 +3=4 =22
fn=2 k=5

5 YCq# ¥Cs * w0y =%+ %0, #-%0y =1 6% 105 16:=2¢
From pattern, if n =3, k =7 and *C; + *C, + ... + *C, = 2° = 64



